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A. Description of a cosmological theory that uses epicycles (6,2,6,6,6) ___
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B. The brightest star in the Dolphin (5,8) ___
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C. M13, for example (8,7) ___
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D. World’s largest radio dish (7,11) ___

162

___

35

___

70

___

86

___

112

___

229

___

283

___

9

___

255

___

101

___

177

___

53

___

253

___

126

___

205

___

221

___

245

___

125

E. Maybe later? (3,4,4) ___
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F. Double, usually co-orbiting (6) ___
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G. Inventor of the reflecting telescope (5,6) ___

211

___

203

___

103

___

31

___

155

___

286

___

186

___

138

___

93

___

45

___

222

H. Brightness (10) ___
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I. What happens at t minus zero (7) ___
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J. Outmoded term for other galaxies (6,9) ___
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K. Visual (7) ___
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L. Sky-sweeper’s lucky discovery (3,5) ___
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M. How to change the magnification of a telescope (6,9) ___
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N. What a red giant may evolve into (1,5,5) ___

90

___

30

___

111

___

120

___

271

___

254

___

97

___

237

___

293

___

288

___

242

O. Part of an ancient observatory, perhaps (7) ___
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P. What an ocean-impacting meteor might cause (8,5) ___
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Q. Gravitational singularity (5,4) ___
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R. How van Gogh painted the sky (19) ___
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S. Annual November event (6,6,6) ___
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T. What an astronomer whose heating element has failed does (5,2,3,3) ___
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U. Modern cosmological model created by Alan Guth (12,8) ___
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V. The Serpent Bearer (9) ___
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W. “Dog Star” or “Red Planet” for example (8) ___
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X. Launches (6,3) ___
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